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REBETERBARITED/KE, BhE—LhERREETSOUME LR, ERLIMAEEERZLZIE]
BEANRE,
[&RO-1EEET=RIVANRINRANEZ LR
NESE EE,;... IJJ$I*5I EIhE | fAfEE
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MAIN 13600 22,3400 20690  87.6 70137 80065 589 10/29
TA-01 1750 222000 1743 87.5 586.5 670.3 38.3 10/29
TA-02 2000 221300 3545 948 12882 13589 67.9 10/29
. TA-03 1750 221900 2691 87.9 9091 10342 591 10/29
BEMTE
TA-05 2000 22,0400 3835 80.3 11756  1464.0 732 10/29
TA-07 1750 221200 2329 86.7 7737 892.4 510 10/29
TA-08 750 229500 753 99.7 2854 2863 382 10/29
- TA-04 1250 3828 4230  100.0 2805 2805 224 10/29
© TA-041 750 3812 4122 94.0 255.8 2721 36.3 10/29
- TA-06 1000 3766 1,390 80.0 725.4 906.8 90.7 10/29
B TA-06-1 600 374.0 965.0 92.1 576.0 625.4 104.2 10/27
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(%) (KW) (%) (KW) (h/y)

TA-01(1750kVA) 15.87 38.3 2.33 353 198 8,760 3,070

TA-03(1750kVA) 1587 591 b4 b4/ 4.75 8,760 6,961
TA-05(2000kVA) 1/.93 /3.2 9.61 61.9 6.87 8,760 239/8
TA-06(1000kVA) 11.23 90.7 9.24 /6.4 6.55 8,760 23507/

TA-06-01(600kVA) 8.50 104.2 9.23 1011 8.69 8,/6 4739

TA-07(1750kVA) 9.80 51.0 255 465 212 8,760 3,/67
ait 79.20 - 38.50 30.96 7.54 8,760 66,022

IR FEEE
T=E
[MWh/€]
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[tCO2eq/HF]

66.02 15.12 15.90 13.51 118 30.25
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(1) BRETN=
— WRREERTLABLRE ( MWH/E ) x 0.229(toe/MWH)

=66.02 ( MWh/ZE ) x0.229 ( toe/MWh )
=15.12(toe/%)

(2) EETLIEN
= FEFEETLIEKWh/E BN BN FHT/KWh+EFBERTLIEN ( BRFT/F )
=66,022.0[kWh/E]x116.75[87T/kWh]+5.80[ B RET]
=13 51[ERFHT/4]

(3) #&ZEEA - 15.90[ B AFET]

(4) &5 O
= BISRER (BAET ) - £FETAR ( BRET/E )
=1590 ( BAT ) 1351 ( BRET/F )
=1.18[#]

(5) RESFBHIE
=BAE (tc/F ) x ( ZRithA TE/MhnF= )
= 825(tC/%) x (44/12)(CO2eq/C)
= 30.25[tCO2eq/%]



